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[)r'lcrirtirtc i) tlte cl i:tribrrtron lirnction trl'.\'ltncl ir) r arilrrrce ,rl'-\
tr) [)cllne'ln()ntent gcncreiinr. iitnctittn trncl sLate its Pri,pcr.lies.

OR
3 a) fwo dice are throu,n 5 tirnes. Irind the probabilitr of getting 7

arrd iitsraetlr l\\r) lirnc\.
b.t Fitrd tlrc tneatt attd standald d,:r iatiorr ol I t)(,rrnal di:trihtrtiorr

are Llnder 35 and B9%o are under 63.

PART'- A

a) Il tlre probability derrsitr, trnction ol a rancronr varrabre

lkrt-rt,. o-.i-l -l(r) I .llnd k.
I 0. tttltt,ttrist'

b) Define geometric distr:ibutiorr and find its rnean.
c) .State central limit theorern.
cl) [f n:100" o = 5, flrrd the maximurn error ri ith 95uo e ontldence Iirnrts.
e) Writc aboLrt t\/pe I crror and t1,pe ll error.
t) State tlre test statistic tbr arr ANOVA test.
g) F ind the Ner,r,ton-Raphson iterative f0rnrr-rla to tlncl the rcciprocal

'\-, '\I>0'
h) Derive norrral equations to tlt the straight line,1, = rrr + b .

i) In Trapezoidal rule. if rlre interval ol 'j', (-r) ,rr is divicrecl inro 9 equral

I

fl rrd lr.

j) Irind the approximate value ol' r(0.2) forthe initial v'alLre problenr_r,'=.r r
Euler's rrethod with step size h--0.l.
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,\ r'rrn(lonr I,itriublc \ has thc lirllorr ins cl istribirtioir

B.

marlis. i\nsrvcr all clLlestions in Part A.
one tLrll qLrcstion iiont each unit. Each
c hs sub questior-rs.

(25 \'larks)
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Note: 'l'his 
c1lrestir)n pape r contains two parts A and

Part A is cctnrpulsorr wlrich carries 2,5

Part B consists o1'5 t,lnits. Ansu,er altr
clLlestion carries l0 rnarks and nrav have a" b.

(50 Marks)
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,\ l.triytLrllttirll .onsi\ts trl' I'it c ntttnbe rs l. 6. 9. I i. I7 ( 
')n\i.lcl lrll lt,.rssiblc santlllcs ()t'

:izc l tltitt e iirt be cltari n ir ilhotrL rclllae cnr!'nl 1l'onr tlri: l)(rl)ulrtti()n. i irrcl a) thc

ltitpttllrliort nreun [r) thc yrLrpLtllttitln stan.lar'(l tlcr ilrtirrrr i) tlrc ntean ol'tlrc sarrplint
distrihLrtion o1' ntcans and rl ) thc stundirrri clcr ration ril' tlrc runrplinu clistribLrtion t,l
n rcuns ! 01

OR

5.a) Det-ine 7r - distrrbLrtion ancl vu'r,ite its properties.

tr) A randorn sarrple of srze 8l is taken r,rhosc variance is 20.25 and rnean is 32.
Construct 98% conf rdence interval. l5+5 |

6 a) [:rplain the terrrs i) one-tailed
tr) 'lhe sizcs and lreans ol tvr'o

respectiYel\.. C.an ue cOnclLrde

stanclard dcviatron l .i'l

and ii) two-tailecl tests.

independent ranclorr sarnples arc -100. 225. 3.5 and 3.0
that the sarrples are clrawn fr-orn Ihe sarne popLrlatiorr with

I-sr 5]
olt

7. 'rhe

two
tbllowing table shorvs the data obtainecl iirr
p0puleti0n\ that arc irrclc

t\\ () sirnrirle s sclce tccl at ranclrrnr lionr
distribLrtr'rl rr iLh cclLral rariances

[5+5]

s),stelt.l of equations

l)lilt_ _ 
|

tire initial ralLre problenr

\ rr. r(0) I and

Saniple A

IJsing one-rval'ANOVA procedure. test at 5% sigrrficancc Ievcl *'hether the means of
the popr-rlations frorrr which these saurples are drarvrr are ecpral. Ll0l

8.a) F ind a root ol the ec1uation ,rc' = I using the nrethod ol false position con'ect
to t\\'0 decirral places.

b) Fincl rhe srrallest positive root of ,"1+ r-l =0 br iteration rncthod.
OR

9.a) Perfbrrr tlrree iterations of Gauss-.lacobi rnethod to solve the
2.r - v- 3. -,r r l-r - z = 1. -.t' I 2z =3.

b) 'Fit the parabola ,t''= (7 I h.r' rc'rl to the fbllowing clata:

(. ,--

l(i.a) Lr alLrate J , 
t" 

, trsing Sirrrpsun's 
r 

th rulc.
i, l- r I

b) LJse Tallor series rnethod to solve .ti =2"\,+3e'. i (0)-0 at r=0.1. Cornpare witlr

e\act sr)lLrtir)n. [5+5]
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tt - / (t- , )- r (i,l )- l',, llence obtain the solLttiotr ('1' I

('on.rprrlc r (t) I ) corre cl to tlree clecinral ;llaces.
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